FBD - 1)-1-23 T

j ‘Roll No. : Y 707 1200192

: Objective Intermediate Part First * *
Paper Code MATHEMATICS (Objective) Group —1

: 6197 Time: 30 Minutes Marks: 20 % %
{h‘- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill the
;\\Li Q.No 1 relevant circle in front of that question number on cnmpntenzed answer sheet. Use marker or pen to fill the circles.
' Cutting or filling two or more circles will result in zero marks in that question. Attempt as many questions as given in
FR objective type question paper and leave other circles blank.aib

f{\‘_ S# Questions A B C D

;L 1 | If "Cg= "Cy;, then ‘n’ equal to: // B ':‘H“‘“x\‘l = B 20 /fﬁ

K

rd F, \ '.I \‘
2 | The inequality 4“>3"+4istrueLf0_1{: / n~l / (/ nx2 / \I n=05-ff// nf/Z

i
3 | Middle term of (a+b)'! is/ are: - 6th M / 6th & 7th / /Sth
n Ja/ Wi
4 | cot?@-cosec?d equal to: / 7 2 \H e / 1 / / =

e R
th

tan(n — o) is equal to: tanot —tana cota —cota
by s s
! —_— — 1 =
{l;,‘ 6 | The period of 3¢os is: I n 0 N On 5
o If AABCisi thﬁan?le ch that -— {
v TR
p 7 | mLa¥ #90°/ then with Wsua ‘notatufns, a2 Q c? @ct |/ 2=a’+b? a?=b’=¢?
E true statement is: ;] | f'/f
. / ' Law of
b 8 o —B/ {/Is $ called: \H\ ----- = ,722\5;&: Law of ine/ Law of tangents| fundamental
) - —T 7 /: trigonometry
Q] - e
gt s tan tan tan
9 | 2taf” A bquals \ __,,97{1 _A? 1-A? 1+ AZ 1+ A2
10 | If sinx = cosx, then x =: 0° 30° 45° B 60°
The multiplicative inverse of complex >
;’ i number (0, —1) is equal to: I (1,0) (0. 1 1,0) , 0?

The domain of e
::a 1 f={(,1),(®, 1), (cy1)}iseq al tg! \\;{a\b C} ﬂa}\ | {]}/ i
:\*‘ 13 | The inverse of a squaré matrix exists if A is; /S%gulankg Wﬂ@ﬂ# /Syrnmetric }iec%-;gular

i -y E— !
x 14 | The matrixfa b ¢ d]is: Squarq,:_}q Unit Null R?(v matrix
: A
) 15 The number of roots of polynbmial equation | / 5 »}\\__ '”4, 6 [l /] 8
) 8x0-19x° —27 =0 are: =
If @ is the cube root of unity, then
16 2 256 - -256 -256w 256w
(l+o-w?)? =:
17 | Types of rational fractio g Ny 2 4 1
yp /r&mﬁa ac 10rrs\ - /7
18 RecmrécaL ferms of an a}xdyetlc P/rog;éssmn /A P | Lr: ‘H"P:T GP. Sequence
> If'A €, Eilove it usoll meadh aﬁd\_ﬂ /7
19 | and ‘b’ are positive-distinct real num s_and, 72 ﬁ>H A<GKkH/| H>G>A | G>H>A
G > 0, then: o / /
R, L S
20 |If "% =30 thenn=: / \ M fa_| 5 8
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(ii)
(iii)
(i)
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(vi)

(vii)

1
(viii) Without expansmn verify that [n¢ m m?(=1 m?® w3
1

(ix)
(x)

(xi)
(xii)

()
(ii)
(iii)
(iv)
v)
(vi)
(vii)

(viii) Find the value of n When nCw B

(ix)
x)

(xi)
(xii)
)
(i)
(iii)
(iv)
v)

(vi)

SECTION -1 g

2. Attempt any EIGHT parts: 1

Express the complex number 1+i+/3 in polar form,

Whether closed or NOT with respect to addition and multiplication is { 1 } ?

IfC= {a, b, c, d}, find P(C).

Let U = the set of English alphabet A = {x | x is a vowel}, B = {y|y is consonant}, verify DeMorgan’s laws
for these sets.

Construct the truth table for statement ~ P=>9e(pa~q)

5 -1 3 -7
Find the matrix Aif, ([0 0]|A=|0 0
3 1 7 2

If A=[ay], , ,then show that LA = A
mn £ 32

fm n p2

Find roots of equation by quadratic formula (x — a){x b)+(x-b)(x—c)+ & -e)(x=a)=0
Find four fourth roots of 625.

Find the condition that 5 ia Ly 2 - 5 may ha}@'rools equal in magnitudebut opposite in sign.

Show that roots of equation px? —(p— g)x - q =0 will be rational.

. Attempt any EIGHT parts: : 16

Define partial fraction resolution,

If % g '|1§ and % are in A.P, show that the cémmbndifference is 2—C

Find A.M between 1~x +x? and 1+ x®x2(
How many terms of series ~7 + (=5) + (—3)% "owr. amount to 65 ?

Find vulgar fraction equivalentteithé recutsing decimal 1.34
If 5 is the H.M between 2 and b, find b.
How many arrangements of the letters of the word “MATHEMATICS?, taking all together, can be made?
12x11
2!
There are 5 greenand 3 ted balls in a box. One ball is taken out, find the probability that the ball taken out is red.

Prove that n!> 2% ! fopn =4, 5.

10
Find 6thsterm in the expansion of (x2 —%) :

Write first4 terms of the expansion of (8 —2x)™!

. Attemptany NINE parts: 18

Find £, when 0=65°20', r= 18mm
Verify cos26 = cos? Sﬁsmze when 0=30°, 45°

. 2tan
Prove the identity —————
4 1+tan?9

Prove that sin(180° + )sin(90° - o) = —sin a.cos o

Prove that tan (7:":—— 6) + tan (%Tn + 8)

sin30  cos30
sin®  cos@

=2sinBcosH

Prove the identity ————— =2

(Continued P..... 2]
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(vii) Define period of a trigonometric function.

(viii) A verfical pole is 8m high and the length of its shadow is 6m. What is the angle of elevation of the sun at that

moment?

(ix) Find the area of the triangle ABC, in whichb=21.6 , ¢ =30.2 and o = 52°40'
(x)  Prove that with usual notations r r, r; = A

(xi) Show thatcos(2sin'l x) =1-2x?

(xii) Solve the equation sinx +cosx =0

(xiii) Solve the trigonometric equation coseczezg in [0, 27]

| SECTION —1II

Attempt any THREE questions. Each question carries 10 marks.

|

. (a)Solve the following sy;;tem of linear equations by Cramer’s rule:

ZXI—X2+X3 =5

4X] +2XZ+3}{3 = 8
3X1—4X2""’X3 E

I-a 1-B

(b)If o and B are the roots of x*—3x+5=0, form the equation whose roots afe —=~ and

. (a)Resolve into partial fractions:

X4

(b)Prove that "'C, + ™IC,_; = "C,

. (a)Obtain the sum of all integers in the first 1000 intégers wiiich are neither divisible by 5 nor by 2.
+ .. , then'show that y? +2y—-4=0

y 1.3(2)2

1.3.5¢2
=T

5

;

1-x

4

19t

. (a)Find the values of all trigonometricfunctionsiof ——

(b)Reduce sin*6 to an expression ifiolving only functions of multiples of 0 raised to the first power.

3

. (a)Prove that r= % with usual netations.

(b)Prove that 2tan™! (

2

3

o

12

13

)
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